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Sample Paper – 2010

Class – X

Subject – Mathematics  
___________________________________________________________________________
GENERAL INSTRUCTIONS:

1. All questions are compulsory.

2. The question paper consists of thirty questions divided into 4 sections A,B,C and D. Section A comprises of ten questions of   01 mark each, section B comprises of five questions of 02 marks each, section C comprises of ten questions of 03 marks each and section D comprises of  five questions of 06 marks each.

3. In questions on construction, drawings should be neat and exactly as per the given measurement.

4. Use of calculators is not permitted.

SECTION – A

1. Use Euclid’s division algorithm to find the HCF of 35 and 126.

2. The sum and product of the zeros of a quadratic polynomial are [image: image2.png]


and - 4 respectively. What is the quadratic polynomial?

3.What is the nature of roots of the quadratic equation 2x2– 6x+ 3= 0.

4. Which term of the A.P 3, 8, 13, 18,...  is 78.

5. Triangles ABC and DEF are similar. If area (∆ABC) =16 cm2, area (∆DEF) =25 cm2 and      BC = 2.3 cm find EF.

6. Evaluate the following:
     2 tan2 450 + cos2 300  - sin2 600
7. Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of the large    circle which touches the smaller circle.
8. Write the empirical relationship between the three measures of central tendency.
9. If the ratio of the volumes of two spheres is 8 : 27. Find the ratio between their surface    areas.
10. A lot of 50 bulbs contains 10 defective ones. One bulb is drawn at random from the lot. What is the probability that this bulb is not defective?
SECTION - B

11. Find the value of k for which the following system of equation has infinitely many solutions:
          2x + ( k – 2 ) y – k = 0

          6x + ( 2k – 1 )y – (2k + 5) = 0

12. In the given figure if LM ║CB and LN ║ CD. Prove that  [image: image4.png]AM
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13. Find the point on the y- axis which is equidistant from the points A (6, 5) and B (- 4, 3).

14With out using trigonometric tables find the values of:  
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                            OR
         If cosec A= 2 find the value of :     
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15. A card is drawn from a pack of 52 playing cards find the probability that it is 

      i) a queen   ii) not a face card
SECTION - C

16. Prove that 5 + [image: image9.png]


 is an irrational number

17. Divide 6x2 – 31x +47 by (2x- 5) and verify the division algorithm.
18. Solve graphically the following system of linear equation 

     x + 3y = 6   ;  2x - 3y = 12

     Also find the coordinates of the points where the line meets the y – axis.
19. Find the sum of first 51 terms of an AP whose second and third terms are 14 and 18     respectively.
                       OR

        If the 10th term of an AP is 47 and its first term is 2, find the sum of its first 15 terms.

20. In what ratio does the point (-4, 6) divide the line segment joining the points A (- 6, 10) and B (3, - 8)?

21. Prove that the points ( a, b + c ) , ( b, c + a) and ( c, a + b) are collinear.
                      OR

The coordinates of the mid points of the line segment joining the points (3p, 4) and (-2, 2q ) are ( 5, p) .Find the value of p and q.
22. Prove that :      
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23. Prove that the parallelogram circumscribing a circle is rhombus.
                      OR

     A circle touches the sides BC of ∆ ABC , at P and touch AB and AC produced at Q and R          respectively . Prove that AQ = [image: image12.png]


  perimeter of ∆ABC
                                                   [image: image13.png]



24. Construct a triangle similar to a given triangle ABC in which AB= 4 cm, BC= 6 cm and            
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ABC = 600 such that each sides of the new triangle is [image: image16.png]


 of given triangle ABC.
25. Find the area of the shaded region of the given figure if the diameter of the circle with          centre O is 28cm and AQ = [image: image18.png]
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                                                      SECTION - D
26. A motor boat whose speed is 18 km/hr in still water takes 1 hr more to go 24 km upstream than to return downstream to the same spot. Find the speed of the stream.

27. Prove that in a right triangle, the square of the hypotenuse is equal to the sum of the squares of the other two sides. Using the above theorem to prove the following:
   In triangle ABC, 
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 A =900 and AD[image: image22.png]


BC. Prove that AB2 + CD2 = BD2 + AC2 

28 The angles of depression of the top and bottom of a building 50m high as observed from the top of a tower are 300 and 600 respectively. Find the height of the tower and also the horizontal distance between the building and the tower.

29. A solid is in the form of a right circular cylinder with hemispherical ends. The total height of the solid is 58 cm and the diameter of the cylinder is 28 cm. Find the total surface area of the solid.

                          OR

The slant height of a frustum of a cone is 4 cm  and the perimeter of its circular ends are 18 cm and 6 cm .  Find the CSA and TSA of the frustum.
30. Find the median of the following frequency distribution:
	Marks
	frequency

	0 – 100
	2

	100 – 200
	5


	200 – 300
	9

	300 – 400
	12

	400 – 500
	17

	500 – 600
	20

	600 – 700
	15

	700 – 800
	9

	800 – 900
	7

	900 - 1000
	4
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